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fEMRPIE LA e . BBEISh

REMNE. F—RRREEZR

1. FREFRNER

20054E9 A, ETSEEE E A + o kit H 2 ok iR B AR 2 R——IE/E M 2% (TOEFL iBT, Internet-Based Test),
2006 4£9 A, FARMEHABIEFE L. X—k#, FEEFKERN. 2E. %E&&We_t%ﬂkéT*ﬁﬂi&}E
. FEARFREN LINEFERIYCE (Paper-Based) ZB{EAMZE,

A RWFEAREKE B EH 677 47, BEMOEAELET, FLAEENARTFELITC, IEHEERILH
BEEARESE, WHELRB-IESHRE, FERNEMLYT, %, . SHNEGRHE, 8503045, o
1204y, NE EAMXEMIESHHEA, MEEMESHEL, NEAIESHENEEEM2E,

HEEZRCLLD THRE, IWERHEZR, XPIEHRERESERE. BAOAD =R BN
7. BRI A E Mt (R 1),

®1 EE=MEREA LR

FERE RENE FEHRE
IR 2 Wrh, OiE. g, B1iE Wrh. &t (i), Wb, & (&),
BRiE. Bk BEE. BfE
i e i8] 4 /N 3.5 /hmt 3 /N
SeEWEmE B 7 "
g o AR AR
B 49 0~120 0~300 310~677
BE VIR . RigE—8omoEHL | & I
ZHERIRA

M ERFTUES, WEARKE AR R R A RAVE, TR SRTHMERE AL TR
A, ARSI T MRS (153) 8, ZEERIBEEAE L AR IR S EEsy
BATHE, BREERSS, W, DENSEESHEESENSEARED ., WA bEFEN 34N IE T 44
/NE, Sr{EAAE R T BBy 0~30 4y, 43 0~1204y , NRHLREER], BHAMIEESRP ARG HEMEL, T
FEALARR % R F A 1D 2D,

M BB AFRUEHEREEZRRS T (ETS) HEEAWERREE. hidXSE2EN 556N
(AL, i&3A0) BBAZBEZEN RN (RReRIESHEAtEN).

2. NEE ETHENT BIEE "LIREENT KK

ETSEERITREME T Z AT Rkt EE" (English for communication) FIH%Ax, ETS £BkE 2k Bl &3 Ramsay
S XX —WEAREAT TRV . A TR A SEERFRE R T RIRR, ROILAIRT, RE
EENREREREE, (¥4 R EERRACERS S REER T SIERGE 8RR, $ AT EES
SRR ML A RN ARE SRS, BT, K. & 5.7 Wk, SEMRENESERARE
RISk AR IHE F SRR ﬁﬂ@ﬁ ﬁﬂmwmmmWMmmLﬁT%%*MﬁLﬁxﬁ
# (Communicative competence), G AMIFRIAIEZHIHREES (Formal competence) FIFEfRRE S, EE
ERRGIAIES MAERHARES (Socio-cultural competence). &ZfES (Discourse competence) Fll
22 BRsRBgRE S (Strategic competence) 751,

HEAFLBANE. Wikyg 5



T S R AP TSP M M R

ETSIRULRIMRZ B H AR ERRE] . FEARME RS T E A R 2 EEEARERZFEFZARTR TEHE
BRISEBRAE S o FiH OB B A% A8 FIZEE NiERIRE S s BTG A BIEMLGE DIE o NSRS EX R AT
[R5 BIREIE Bt frotr. Ba . BHERRE DAL ETRENRIREES . &4 DB 23 EEREREIFRG
AU T HERor T L AT BN PR s (0 B2 AT A BIRIRA, XEbE TR Z AL 2R, Mk
SRR E FIDEIT, Wi OAFAEo ML TRAEITR, BRE, ILELEREEMRARERNNEE.
B2, RS ERBE LRI, MBI IR GEBIRF E R AL R FE N, TR AR IR
P “EarfRe” AR, AIBENEREE RS, BHEARZRENR. RRIELLR BRI EIFEES
BEh o

TEMNERTEE B MZIERENEIK, RS “RiEE" (ERARILM, BILFEEm S aa A A AR
FIE SRR, hHORIEE S ARSI G, “RASE” RIAYT. B, 1%, SHEMEAE S
STt , TEX R EZRFRATAES S g L IUHBRIISE . (AGERIEIES SR IRR RITIC . 1ELA R SCHobgis
HEMIE, AXHORKZT, BREHEPEFEFAETHEAXMELE TRSENES, BEERSGHR
BEERTt—2F 5 HIF BEFES XA I _E RSN M b T HRIXA B 28 U R, ETS 7R 224025
£ SREVZ ARG AE, LRE R “REREE” WESHIF RS ZAAENREDTRTE . “Rik
FE” EARIRGRARRIE SN ARRE, HRRE I BIIERE, TR NI E = IR A
BIFHSEIL Tix—BAx,

RN ERR T —F2FNE AT LB SHUET RSP EARIBN T &, ERRWR TENEME, 4
RMERIUKR L EH TS5, SAFENTES R, %R, ZAETEEY A CESRINRRME S, 5
BREORMER, HRHE—FE,

R B RE R HEARS A B A EARANNR ., it ERI%, St
A, B JLABTRRIETS . SRR SRR E BB R AR E R E RIS T, AEBLEESR
I E SRR T RIZMNIEF A —F — N HEN b S TR B RS A R D M T IE SR AR U7 "
EMEREZE S, REEA, EPHER, FHRE, MTES-URG W M 57 W—mEARRG, B
EY), BERRARTACHEE, B, RENARER. RS, FRAAEHEENE,

IRFERRAIEE A

HTENRIEEF - ENREERS, KSR OEE o ERENEIRNR, Fir£524 8 LA sr4
R EILE, FTURERES, S EMEZ0m LEEmEE, 2RSS RIS EB2EE, BEEAR
SR Z AT AS . KA RIZERN R i SC A 2 R RS AR, RRPORAE, BEE RS, KBS .S
HUBE DRSS, EEEAR M TRIEMIAVBMEE, RIEEEREEELEX A OEMR, “WR” REEIRIC.
ERAERE, ﬁﬁ%?%ﬁﬂ%l)ﬂiﬂ‘tfﬂﬂiﬂqﬂZiflﬁi%ﬁiéﬁaﬁém*ﬁ%ﬁﬁ?, BHEEENRE B S BESN
PR HER. BABRERE S A HE B A TR A AR (Basic comprehension questions), H#14
BEEMNXEEERE., BRHR. BHXALMIEEBEIHMHRISEEE (Inference reading questions), &
BENERTZLEANEREME (Reading-to-learn questions), #nEE AE AT EEE B9
B, PIACE RS R R S W E AL,

6 HEALKRAA: k%



R2 AEBoERBEZMERAEAPHEL

BB 3~5 FEEAMEICE 4~5 AR E 5 BEEAME

K B g5 700 BiRlAEA fg 4% 250~350 #i 7 A 250~350 HiF
AENE i 12~14 74 kw118 i 10

TR &) 60~100 53 70~90 438 55 44

a4 = 0~30 0~30 31~67

M ERFTLEN, FAERZ GEENZ%) SR, i aErEEs Bk, SAREhLE
Frsiim, Bfedeit, EBEATHIHRA:

1) BIEER ., B, AN IR MR EaREMRAZS . AR M., ais SRl
B, RRKFE, AFELE, HiE8. FLEEE. EiRAWE, feEmEsanE, FEahaEasa
FEFRE, MXEEERAE S, FICENEE SRR AR, BEERY, HIRAEATRIC, B AME
B, BohT CHEEAR. Hdh, FNNEIEE. B EASEME R S MR E 2 IR SR G ANE
B|RAMED. Fit, MREAEMES. B,

2) FRARIEH L, BWREEAERE, DIEEMEZRF AL RIEMEE R W—ErEiE s h6l, Hhrk
B : parasite (F4EH), cluster (B ), roost (#E.EH#), groom (S EAHIEE), embed (i A), forage (H
®) %, I, MREIHXERBERARE, Mo EE,

3) MTEEME L, XEFRESN, OF LEAN, RN EIERSs H 3 EaF 5L AT
TR, 2EEAHME, TABINT H112%E3 ) TR —TRIUE, Xebr bR IELN%
BRI T IRy . B0, BFIEAREIEE S H R L XA L B AN, SRR EFRIRTEL. i, B
REFIFR, WHEMNUEMTELRE T EHER,

4) HEYURE LRHBEXE, REHETRERIEA . ARER%ED, ZESATLEETEE, ReHsE
FSIECEERE R, IR HISARE . XFEIREROE AR EIT ETS MR ERO, REiEt
BMATERFEREIRES, NEER LIBBE, W XENEERSHEEY, FEXEPELR, MR
2 “HIA, ARH”, RE&EZERE, HAEERREX.

IR, CIPEEAEME R B Er A2EEIRE T AU, BT UME, (B2, THRT e
Bk, FFAR, BIMRMERBIZCWRNES ., mE, MERNMEEE AR TZAERNEA, RAmARHE
“TERALEME T.

1) ZRBAXE, FEAEESE, FRERELTL, REELMK, 12~14MRB B NEREASBHE
X, REZEFRENY, 85 “HBSUERR”, RBEMERPIEL.

2) @ AIRF S B IRA—3, TSR PR HIORER— B FRMARE R, Z— SR RGERTEEAERE
FHIRRE, NAZETLE T, ST IR T MR,

3) AR, FE BB S B RERREAW, A v 3 SCEA MRR S 4k #i53C
BRI BOER FES AR, ABRE, AAXE (WTHE).

A, ETS IR E A DM A, B K% A REE R IS St b BE AT IR, FRM “H-KiRIC
', WZEAWEERN . “EREBMEERG®” Uk “REEiRdE” WA S RETFRIESR OSSR,
BLATLAZE _ESR AR AR F], RMEMNZ EARRIEE, BObREERSE ARG,

HRERAZBRANE. Wipg 7



The word squander in the passage is closest in

Opportunists and Competitors

meaning to
O extend Growth, reproduction, and daily metabolism all require an
= | organism to expend energy. The expenditure of energy is
© transform essentially a process of budgeting, just as finances are
O activate budgeted. If all of one’” s money is spent on clothes, there may
< waste be none left to buy food or go to the movies. Similarly, a plant or o

animal cannot squander all its energy on growing @ big body if
none would be left over for reproduction, for this 15 the surest way
to extinction

All organisms, therefore, allocate energy to growth,
reproduction, maintenance, and storage. No choice is involved;
this allocation comes as part of the genetic package from the
parents. Maintenance for a given body design of an organism is
relatively constant. Storage is important, but ultimately that energy
will be used for maintenance, reproduction, or growth, Therefore
the principal differences in energy allocation are likely to be
between growth and reproduction

Almost all of an organism’ s energy can be diverted to
reproduction, with very little allocated to building the body
Orgamsms at this extreme are “opportunists. ” At the other
extreme are “competitors, ” almost all of whose resources are
invested in building a huge body, with a bare minirum allocated
to reproduction

Dandelions are good examples of opportunists. Their
seedheads raised just high enough above the ground to catch the
wind, the plants are no bigger than they need be, thair stem:
hollow, and all the rigidity comes from thetr water U
minimum tnvestment has been made in the body th
platform for seed dispersal. These very short-lived plants

reproduce prolifically, that is to say they provide a constant rain of
seed in the neighborhood of parent plants. A new plant will spring
up wherever a seed falls on a suitable soil surface, but because
they do not build big bodies, they cannot compete with other
..plants for space, water, or sunlight. These plants are termed ]

BRATRHEE, BRBGREREX

BN —ERFRIAE FTLUE T TSR M bR 5 s, SEEIR T i, SR E T R LB I5 A0 238 5 500k, 30
2, FHEARERER LA REVR? X LB RErE SR E 0 AN TR TR BATRTLAG WRLE R3S 5 R VR LAk,
FACARM LB IRED o TR B IR B2 T 51 6 THLRE

1. RIC#4r (Vocabulary)

L RMLEIRFOERE, FERWHICHTZINENEN, RS, FEEEikhiarg—
KR AL, BINCEEEHHMACHEEART TR : — AR, ZRERIRCASEREE, T
T B 157 BT 44«

1) &1, FEER ZHCAHBLRRM L, RHEE2 —R SR CENARL ARG, XBLEaETFLE
HA&W., X5 RERATFRESHTBBENT X, Fs T a8 ER RN ki AR ZAE A, b
WERIEP S ERER] k7 WATER reliance, LB/ ESIRIIALR rely, it AT CLERA
B W ATE B E R RS & R B, 1R establish XMt £ 2% Ll establishment B, R ELERE
BER R R (L, IR AR,

2) ¥eiE, MERFEZEZANITICREMBZRNGED,

i1

It is no wonder that, during the years of these cumbersome arrangements, private letter-carrying and express
businesses developed.

(A) burdensome (B) handsome (C) loathsome (D) quarrelsome

RO, EREA, ERNRAIHRE TEL LT XN, 55, BERETRN, REBExd

8 nEmEZeNE. mR%



BRI B Bl R A AT 4l EL K
3) MR AR A . AL H TSP R TAND, ARSI P SR BRI RN L. Hdn
minute 5%/MR, EFEAREIE RS EER A small 5 tiny, e /ma'njuit/; immediate M7 close &R,
RO AT R E Y — SRR R e s BB JRIIR—1,

¥

2. {54 (Reference)

BAEI R E AR E IR T P — A B IR LS Ho A R BURT — R R BB R, B BT 1t, they, them,
that, these, those Z45¢ A Fnipau(LiA],

] 2:

At least 50 different aromatic compounds have been analyzed in the orchid family, each blended to attract one,
or at most a few, species of insects or birds. Some orchids even change their scents to interest different insects at
different times.

EFRAERFAHAMCERETOTEENDY, BHEERABIRCRZEXR, i, Taki
MY — R AHAEAAR LAY, RADH ARSI, A E—aiER, NORREERY—&
HIENDF, AN EDHER,

Rif SEHFRANEY— RS HAER —SANgFh—E o Ey, NMRtig, R RiES
KA ERRICAZERANHERNE ., BF — M HEHER, —RERRNESHEEERFZ, mARE
BHEASHERE, BEHLRE. '

3. (EEFBRIRE SR HIBT (Negative/Except) Fn3i 3L BB SR F Y2 (Factual information)

XBERS I8 B RIS, RN TR A E R SchRA 4, Hn:

According to the passage, what was the Clermont?

AR ERAN T, LA BB Clermont fEX B ML E , HELANDTF—i%, #—B TR, &
R ,

4. ift#F (Making inferences)

BREZEMBOERE, HIBZHEX R M ATEAENT. MR B RS FEARIT (SER # P £ BH =F
R, MR, 1EEE E RIS,

1) HEWTRE, TR LS AR 2SN AT e A AT,

AR IR, SEBERENRBAER , HEERE S VR R IMZE TR, 4R = WEwT
EI, REBFIRAREY, B3 OAE EFEEX REERTETA AL,

ER

Jazz has gone through many styles. In the 1890s it was called Ragtime and evolved from tunes common in
Cakewalks and Minstrel Shows. Sometimes written, Ragtime remained essentially improvised — except in the hands
of a master such as Scot Joplin.

Question: According to the given paragraph, what can we infer about what the author will most probably
continue to talk about in the following paragraph? \

(A) Cakewalks and Minstrel Shows. (B) The life of Scot Joplin.
(C) Another style of Jazz. (D) The development of Ragtime.
Answer: C

fiEdT : XA EMBRCEANRHENE., RECHAREE, RHEFLE G “Jazz has gone through many

KBRS ERANG . Wik 9



styles.” TiA<BtIZEA 28T Ragtime, BIRIMARIBFE IRAM, RISXLEEE, AL S BN (S FIXE T — R
BB L IRA B — R

5l 4.

John F. Kennedy was, at 43, the youngest American to be elected president, and also the first Roman Catholic.
John's grandfather was a poor Irishman who migrated to America. This immigrant and his son, Joseph, accumulated
wealth and political power. Thus, John Kennedy has the advantage of wealth, family and education.

Question: What can we infer about John F. Kennedy from this paragraph?

(A) He was the youngest American president.

(B) His father emigrated from Ireland to America.

(C) He was elected as American president because of his religion.

(D) The advantage of wealth, family’s political power and his education played an important role in the election.

Answer: D

JEHT: SETRARNB B TR E SRR, PLZHERR, I CAERXAMIR, hEHR. RA D BREBRX
HEEGHIERESR, ME, M IELRTLHEN L, REHXAEFAHERENTE, REFNKETRMAT
HINERREZ 2L ELESE, (B33 E UYOX L RET & L B 4& .

2) EEFERE, X2 R R TR —F, et BT HESIRNZE, IESTIRET. $F,
e FFEFMRR BRI BUR T S0 J5 i & SCER L IERY B I fT7E,

RS A WAEREE, —BBERT, XEE-BREEHR - MEAEN YT, REHESEE—-A6T, &
BBt R TAEE A MEREIAGIF. TedEwiR U SENIEX MR W S T E

5.

In fact, student ratings have become the most widely used — and, in many cases, the only — source of information
on teaching effectiveness. In comparing three studies of the same 600 four-year colleges (Studies were published in
1973, and 1983 and the latest will be published this year), it was found that the number of colleges using student
ratings to evaluate teachers had climbed from 29 per cent to 68 per cent to 86 per cent. No other method of
evaluation approached that degree of usage, and other studies have found similar results.

Question: Why did the author list such figures as 29 per cent to 68 per cent to 86 per cent in the paragraph?

(A) To prove that student ratings have become more and more important.

(B) To show that student ratings have not been used 100 per cent.

(C) To indicate that student ratings have become the most widely used by colleges.

(D) To illustrate that student ratings cannot be used as the only source of information on teaching effectiveness.

Answer: C

fEpT . MIMARRIERESR, FARRE AR REBHEATIIESNERE . AT Ex BIHEEK
RETPFOr A BB AT IZ, MHARBRREE, B DMERFSE RN, RESHR., BECH4
BT, HIEFRE,

3) G, A AR AN ? BohX R R DA (5 B A M miEE X ERI B,

X SFRIHLAE T N . & 2 T AR I , Znfirst(ly), second(ly), ... last(ly), in addition, however, moreover,
what'’s more, as a result, ..., ik, WLMBIEAHAFHRISCEIT, FA, B, C. D HAEIHW4IHESE JH
FIRERYREIA, Bob, BRTUMRERERIASEEX R, RAHDTFHHIT BRE, o eimnmT
FIBHERNAR A %R G Ry, mRRRIERELY, WAEREERAALEIZEER. B&F, MtHEE
F—R RIS D, B — A LA ERA T2 0, WRaEZEEER R, SrERmmy, &
AEEEREREREREES.

10 EEMERRAH: HEII%
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151 6.

Scholars offer three related but different opinions about this puzzle. ® A) One opinion is that the paintings were
a record of the seasonal migrations made by herds. m B) Because some paintings were made directly over others,
obliterating them, it is probably that a painting ’s value ended with the migration it pictured. m C) Unfortunately, this
explanation fails to explain the hidden locations, unless the migrations were celebrated with secret ceremonies. D)

Question: Look at the four squares [m] that indicate where the following sentence could be added to the passage.

All three of them have strengths and weaknesses, but none adequately answers all of the questions the
paintings present.

Where would the sentence best fit? Click on a square [m] to add the sentence to the passage.

Answer: A

fEAT . BRI AR B T S5 4R “three of them”, A B % —4iEh il “three related but different
opinions”, fR#EEHKK R “them” F1 “opinions” WX P, BIMEEESRPFLASE, FiEERH=4H
B ZRIABEER B2, PRAEMELR. BILL, %0 RERA ABLE,

5 WMEHAMATENSMZEHAY (Identifying and using main ideas and supporting details)

X REF E A= FAE . EAEMRE, KERHEEERE,

1) EATEME, XATEFEME R, BERMRE RSB E SN A RBI ERE R,

2) KEMHES, KENHEES KB T B RRE, EH AR S E A E AR E AR,
RENEERBIREAELE, BFIRL, XEIFCLERRXELS, S—BOFLnaEEHEHM (topic
sentence), RRIZBRKIRFEKRE, R4 HIAZHET, BERG—DIEREILE, CEREFILEELT
REBZE—T, LA, BoxRKMAN, MREAGEICEF L. S£EREROENIROEEGE—5,

WIRBENRY, BMANIEFRH A28, Sm TR NS S8R, BRE, 5%, 5%, 5
HELELEHNA IR RE, EREX T KEMEEENIL, MIAZRENE —UiEMIZRTAKREN., 1
K, EARMEPEERRBURE SHER, MMELEFSREIRNTR. B2 E S EMERECRE LA
Fk, RERMGER, FUAFTURAS AT, #ITORHELE=0, R5H£T. —BIELT, 4%
FURARE T XERNEERA, TUBE CITAERES. SERTHRSRLLET Y, BMaiEEsHED
SWERNETUE B TR, KPEMER, LRBEERTTER,

3) BRE., MIXEFEMRIECA NG5 IR,

B THX 208 B BT G IR R K, XEMAHFE— 2607, & TLERB PRI K BAREA B, M
ATLARE R iR 5 3.

6. §iRHF (Paraphrasing)

PR AT RS, XREEE M AEX T HIRRIER, SKhr bR 3% A AR, 2 HE
FGEE R 2, MEMETREaFEL, SREMHE, AXRREFEAELS, S TXREE, BEEL
XERICBRE DT HATHF oW, BERNBXR. RE, THAAEETESLTX, EALHIEMRAX
BrRRHHAY, FTLABE—E BT L T SCHEAE B B S E IE M,

Bil7.

Finally, Balkan institutions were not conducive to farming for export and profit. The Ottoman feudal system was
based on subsistence agriculture: local landlords took a portion of the diverse crops raised by self-sufficient peasants

FERALRME. Rigyg 11



for their own use. The system was not easily altered to accommodate specialized agriculture, even if good farmland
and transportation was available. Peasants expected to raise and consume a variety of crops; if a peasant family began
to raise a single cereal grain, there were no economic mechanisms in place to import the other meat, vegetable and
dairy products they needed to eat. Where intensive agriculture was possible, it also tended to further destabilize the

Ottoman system because it enriched local notables whose interests were at odds with the central state apparatus.

Among figures like the boyars in Romania, wealth from grain sales fostered social and cultural aspirations that led in
turn to a nationalist revival and a challenge to the Ottoman status quo.

Question: Which of the sentences below best expresses the essential information in the highlighted sentence in

the passage? Incorrect choices change the meaning in important ways or leave out essential information.

(A) In Balkan area, large-scale agriculture came into being. It also increased the tendency of reducing the Ottoman
system’s power and influence because it increased the wealth of the local celebrities whose interests were
against the central governmental regime.

(B) The subsistence agriculture reduced the power and influence of the Ottoman system since it increased the
wealth of the local celebrities whose interests were against the central governmental regime.

(C) The Ottoman system was gradually overthrown by the local nobles.

(D) In Balkan area, large-scale agriculture came into being. It also increased the tendency of reducing the Ottoman
system’s power and influence because it increased the wealth of the local celebrities whose interests were
destroyed by the central governmental regime.

Answer: A

fiRtT: St BMFTUBRBXDEE=EE L. (1) BARLERATEE, (2) xfklEREERES

e R RE, (3) RERZA WG T L TR E, bl IRH2S 5 B 8 b R B RFRIF 25 B4
ARy, Eik, AAEEHABR TIZONEMEER, TBEWH R “subsistence agriculture” FIBMEAIR, C MR
BAEALEIRA, DETRRY “at odds with” WUERA R,

FEEIN

*FRRES AR RENESRREMN S, BT EEMMAOEEET R RN 25, 78 Cr R
TEEREF 2E, WO, M THBEEOFETS, CHEEE FEMAA: —EBEEREB CHRFIERES,
ZREERTZWNE, WA CRERMIA N BT AR, RN SRR EE AR, 57
ARG RNATTA R T EERSURR, S50, TR RIS HE B b - iE A RiE R,
HERX T RIESHRD . L, BERGEEE 2L, HRE CHBELRFMERER, LrTEimEes
PRI LERF R D MRA R, .

BE, B, RAETTURIMRRE, MR —RXERENTEAER, HiARE, BIEGR%ZER
B, AMOERBARNORTF . K2, MRLEAFALRNE, HIEE%EELR, THAREBIILATE,
Bk, REAEEPREETINGNRR, LR KRR, FTALE—TEFEERLEMM (EREY. (B
ARD. CEFD. (B IO, (RTFERD T, LUTVOA, CNNET &Y R, T, SEAEERITRIR,
iR R 2125 08

12 ERERRAR. W%



MAER A4

“TOEFL® BT HiHEAR—iiB” H 5| F54 B35 E Compass Publishing 24 FIHIAR . B %0 AR S bR — 25857
RN EEENE, 2ENBEHESEEM, AW H. @ik, DiE. SENSAHE, BEENEEEEEN
ZHFERFERLL I ABHTRIER B, 2EEM NASHAE, HRHE TR S E LR,
M THERZRMEYKRIETE L,

APBENE LBEERBREEEIZ, HAZMIE SIS, B2 EIES DM RS %a
Vb alERk. 2B AHmEANEHsy, BAUT LR .

1) BiReIZemE, Sk R4,

F-TBSRE/MER (9 1001044) HRIEEZERHIIES BR K R UL R 5 A R I R AR5

3 BEE RN SR % 8 R B K AR R SR — S L 1 D e ER AR B R 5

HE—. BETEA RSN, G EBALE. 18U 515 50 R 3 A ARSI A Y 5 R
VLD ISR AR R 1 3 R ET T IR AR BIAT R 505551, BRTEERAE AT RIS SR &
T RERIIIRRE, PHss4 .

B =R T B BAEAR S A R —— RS TR T MR YIRS VLR, 5 A4 A 4 R £ g 3k
RAFERSy, BRI, HaeE,

HMFR—ERAIRE TR RIS, A ATLME R E SRR STOMRIRE, MATURRAD
HIE IR

2) BREASCEMAERR, BHEEEEE, YTV ARCE, BRAFOREDR, SE5 004
AR R E SR BEE B AT 2 ST,

3) FBHBREFHRMA, WENEESHE 52, S5HIRESER T EWMENE R EEEN, 5
H—BE WA, % —32 Skill A Understanding Details T4 3 &3, BB EEREE. Which
sentence(s) in the passage helped you answer question 2 above? XSRS EIEEMR L, CAUBESCHERY
REM I IERRAINT . % —R/EEWER . List three symbols mentioned in the passage. What do these symbols
represent? FEBYIRE RN E T BAAT, AEMENEEN AOEE, X% BRI Yl
HEFEEMEEMAIGE

4) EEEFIRE REMITEMR, 0 =B EREARIE, ORI h B T Eis TS, st
REREXEE TR, UE—EH0, CEFRIESL.

Instructions: Read the passage and underline four key sentences or key ideas that would appear in a summary of
the passage.

3G O By o

Directions: Now complete the summary using three of the ideas that you underlined. The first sentence of the
summary is written for you.

RAEHIBAEVIGE, M REEEAEXENEETAE. R HRRMIR A, FOCATLAR Bk s 47 ER
XF, FHTHRRIERNEIEINR, WA EERS SEaHbE A%, £rEiEiimm,

Bz, RYMRBEIAEMIESRAOEFMOTEZE, F2AE, TREVIESHED FHERE 4000 R
GHRATEDA, JEEFY. RERENR D H OB RIRERE, RN GrE2 5] fhBS 25 B
Ro B, FEROCHFERME S LGS, B KA ET RS G R D21 RIS,

HEAL LR WoyIs% 13



RERMEE K& EHEXNEER

ERSFHALRMER, $—EmEntEEERPONE RN www.ets.org, FohiR4A, RS, X
B WM EERFXA W, ik, AHNE EAEREZERRAZHOEES, IHEREEENZETER
RETH, B 4RIMEEH . www.chasedream.com; www.taisha.org; www.gter.net, &AM EH X TFE
B & KRR, Zn www.usnews.com, B, B F L IIEELE IR, 2nwww.tol24.com; www.m-
w.com; www.msnbc.com; www.cnn.com; www.bbc.co.uk; www.timesonline.com £, KK ATLIFIA

www.successibt.com FELARLIUS A R GEx B S HIEFRK it i3t — 2480,

14 gHREXRAE: W%
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